
GXA-12 Animal Weighing Bowl Kit 
Instruction Manual

Applicable to all GX-A and GF-A series balances except GX-203A and GF-203A.  

Total mass of the animal weighing bowl kit is approximately 190 g. 

Accessories Animal weighing bowl ................................................................................................................................  1  
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GXA-12 weighing pan ( Use if the minimum division of the balance is 0.01 g or 0.1 g. ) ....................  1  

Step 1 Select "the usable weighing pan". 

If the minimum division is 0.001 g,  

use "the weighing pan of the balance". 

If the minimum division is 0.01 g or 0.1 g,  

use "the GXA-12 weighing pan" and  

remove "the weighing pan of the balance". 

Step 2 Place "the usable weighing pan" selected 

on a flat surface such as a desk. Place the 

animal weighing bowl on it. 

Step 3 Hang the upper end of the hook to the 

animal weighing bowl. 

Step 4 Slip the lower end of the hook under one 

side of the weighing pan at the center. 

Step 5 In the same way as described in Step 3 and 

Step 4, attach the other hook as shown so 

that the two hooks are placed diagonally. 

Step 6 Confirm that the two hooks are attached firmly. 

Place the assembled unit on the balance. 

 Caution 
To remove the animal weighing bowl:  

First, remove the assembled unit consisting of the weighing 

pan, animal weighing bowl and hooks from the balance.  

Then, remove the animal weighing bowl. 

If the hooks are loose and come off easily, bend the hook 

ends to adjust the angles. 
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"The usable weighing pan" selected. 
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Step 4 

Use "the GXA-12 weighing pan" 

if the minimum division is 0.01 g 

or 0.1 g . 

Use "the weighing pan of 

the balance" if the minimum 

division is 0.001 g . 

Weighing pan 

Remove "the weighing pan 

of the balance" if the minimum 

division is 0.01 g or 0.1 g . 


